stress test

1. 2o 7129 Zol7t 2q 9 AAAR Y] Wolrb4a® — | 5. []
2020 4 W, A= 9] do]=?

4a’-2a’b
) ----2a - -

@D a®—a @ 2% +a ® 242 - 6. ol® Ale (—xy2z4)5 o8 yragy o

@ 2a>—ab @ 2a°+ab (42'y>2%)? o] Egitt. 43 A& 51w
@ 165613 20,26 @ 81‘7 15,21

2t 2Byl
® 1623 ® - 16
2. AFabAd st 3r—{22 - (z—y)) =azx+by & B 8x16y10,8

o, a,b ] L& 747t Fofolal,

Da=-1,b=1 @ a=-1,b=2

®a=0,b=1 @ a=1b=-1 7. ( )= (5 — 2y) = 22 + yoIA ( | ote] oF
ar o X109

®a=2b=— 2 A2

® -3z-y @ -3z+y ® -3z -2y

@755_11 ®7x+2y

2zy 3y
® 3z -2y @ z—y ® z—Ty 8. (z+a)w—5)=a2+br+15<A W, a, b2 F2?
@ 2z — 3y ® z+5y

D a=-8 b=-8 @ a=-8, b=-5

® a=-3 b=-8 @ a=3,b=5

®a=3,b=-5
4. b A FlA veix W3t g s

@D v= @t:s—a
3 v
1 t
= @ a=vt—s
v s—a
® s=ovt+a




9. (Bz+2y)(2z—y)—
K29

(z—2y)(4z+3y) & HFEA ANt

O 222 + 182y — 4y? @ 222 + 62y — 4y?

@ 222 + 122y + 4y° @ 1022 — 4oy — 49°

® 222 + 6zy + 4y

10. 12821

ofzt.

= 16a+2 83a 4 =2 \j]-__,_o‘l_

a 9 e 7ot

11. A

WS ]85

12. o5 5 AN 237t 4] 982 AL27

A {

rlo

@D (—2wy?) x (32)% + (6y)? =

@ 14a? + (—2b%)? x (2ab?)? = 14a*
2, a?
©) (gaz) x (302)% + (4ab?)? = T

@ (10a)? x (—ab*®)? ;(—%Lb?) = 2502

® (—4z%y) + ( > (2zy?)3 = 48x5y°

13. oh& =AL wES o, A4 A, B, C, D, E 9] 3ol
ohd 7127
@ 4(2?—32)— (322 —62+7) = Az’ +Bx—7
2% —3x4+1 22 —-22x+3
© 2 3 3 B
Cz>+Dz+E
6
® A=1 @ B=- ® C=4
@ D=-5 ® E=3

15. the T3t o] Wrle] 7tz o) 7oz} 3q , Az el

o7} 20 91 AKAA ] F317} 180° — 15a% 2L
Stk a =6, b=4 % 1, Fo|S Fafolet.
i
16. B4 242 8519 (z — 7)(50 + a) B A5}

o], z o] A4=7F =30 o]t} ol A= ¢ 9] Fhe 6}
of e,




17. stz o] Zlo|7} (;’Z)Z A= o] dol7t (2;)2‘3

745 2] Yolg Fajolat.

18. (32— dy —3) + (x — 2y — 3)& Fhea] ohwl?

@ 2x-3y+6 @ 2z —2y+4
@ 4z —4y—6 @ 4z — 6y —6
® 4z — 6y +6

19. 32(z —y) + (423y — 82%y?) + (—2xy) € 79|
o, 2* o] A4S F5tei et

20. (22 +y)(3z +2y) & AAA A, 2y o] A5E?

@® 2 @ 5 ®7 @ 9 ® 1

21. z = 3, o}

49| gre?

mlo

6z + 2x(x — 2) — 42? + 22+ x (—3x)

® -9 @ -6 O®6 @ 9 ® 12

22. A= a, b, ¢, d ol ot -2 B7| A a+b—3c+3d
o g2 Tetodat

(1]
H7

&~ [20— (y—30) — {z — (Bu —p)}] =

azx + by
2 5
© sy |2~ 2w —y)~ {0~ (-2 |
=cr+dy

23. F Az, yol ot «, A & oxy = (S8zy? +4xy?) +
2zy , xAy = (122%y — 82%y) + 4oy 2 OIS of,

(*xy) — (DY) o 1o
ey T @by 4

D 6y + x 6y — x 6y —x
6y + 6y —x 6y +
6y + x Jy—=x
6y —x 3y+x

@ ab @ 2ab ® 7ab

@ 2mab ® wa?b?




25.1 1 3
E"‘E—Z E]IH7

5a — 3ab + 5b

> o] k& Fstofz=t




